= A
N = 0] &F AF S & AN A
20198 = 20l A LBHS H Aol 1t
SN ASRED
Hu: 5EMO PR MEAT SEWM
©e: DSa4E BRl2Y CERED
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Ao 1} 14,927,540 11,735,596 3,191,944
= 3,990,000
= 10,937,540
SEXHQ 22 Aot L&A 7,970,272 7,222,652 747,620
= 3,990,000
= 3,980,272
OISasE 24229 916,084 912,290 3,794
lsasS S22 916,084 698,290 217,794
201 et 116,964 76,400 40,564
01 AP 2t 2] H| 116,964 76,400 40,564
OIS H4E Ha 2HAMN 242
1,028,000 x 11304 &~ 116,164
OLFABRETAIE 2| X AR AISHF DI
2 100, 000& *4 Ml E %23 800
202 044 2,000 2,000 0
01 2L HI 2,000 2,000 0
O g2 =4 2,000
203 &2 =&XH| 3,000 0 3,000
03 AIZH =& 2= X H| 3,000 0 3,000
Olot4=E Al =& 3,000
206 M = Hl 19,000 19,000 0
01 {2 H| 19,000 19,000 0
OAARZLEZANE ASAHE 2 18,000
OARAELEETANAE 2ZH=Y 2L 1,000
401 Al HIZL 2 0HY| 775,120 578,708 196,412
01 Al&H| 775,120 575,000 200,120
ODIZA4+E 9s@r B8
1,240,000 *113H A x1E 140,120
OF==2H WHZ2A 200,000,000 x 1 200,000
Oonsadst 28 70,000,000& =14 70,000
Ollsax: 28BS 30,000,000 =1 30,000
Oontsass 23 HoMA 200,000,000% 1 200,000
OARARBLETANAE A=) EXAMY
3,500,000 1004 & 35,000
OFS SFE2E0SMsE MEZBA
100,000, 000* 1Al 100,000
ol AlE DA 6,891,406 6,147,340 744,066
= 3,990,000
= 2,901,406
QEXNEAIE X2l 11,492 11,492 0
201 et 9| 11,492 11,492 0
01 AP 2t 2] H| 8,572 8,572 0
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2N
X ZH -
L= B

el

aot== 1t
SEXHQ el Hote =ZY
St=Z Al e

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O==Z Z Attl 172
O&3x ¢HUHEA R 2003 *2,0000H 13 400
O==stzaa HoEgZ ¢ 2,000,000%43| 8,000
02 =224l 2,920 2,920 0
O&3stx CHHSE M &&= 3002 *2,0000H * 12 600
O&dt=& g3ltl 1,600
OZZHIAS ¢4 SMN23
6,000 *10JH A+ 12 720
Jaot+SLHelE =H H3AY 50,000 50,000 0
401 Al HI 2 28I 50,000 50,000 0
01 A& HI 50,000 50,000 0
O dt+=3LHeldd =HESAY 50,000
SSSEY HESAS 60,000 30,000 30,000
101 124l 30,000 0 30,000
04 JI12ZtHZ22 a2+ 30,000 0 30,000
OZ2Zst&a AME= sX el 30,000,000%14) 30,000
401 AIEHIZ 28I 30,000 30,000 0
01 A& Bl 30,000 30,000 0
O=&st&a HE=> 30,000
ot =4 & 22 100,900 100,900 0
401 Al Bl 28I 100,900 100,900 0
01 A& HI 100,000 100,000 0
Odts=E &4 L 22| 100,000
03 Al =2 THHI 900 900 0
Oot=& && & 2| 900
St=% 20F U= ALY 100,900 213,527 A 112,627
401 AIEHIZ 28I 100,900 213,527 A 112,627
01 A& Hl 100,000 212,000 A 112,000
Odt=% 20t FeU=JAAMH 100,000
03 A& =2 THHI 900 1,527 ANB27
Odt=EZ0F == ALY 900
SOHE OISdt=% AANEHEY 80,000 650,000 A570,000
401 AIEBIZ 201 8I 80,000 650,000 A 570,000
01 A& Bl 80,000 650,000 A 570,000
OdY 2R sHE Ot2otE AANEAHS
o 80,000
OiSotsT HEASE (2Z2) 586,673 326,333 260,340
401 A& BIZ 201 8] 586,673 326,333 260,340
01 A& HI 583,000 324,000 259,000

- 428 -




SN ASRED
M SEH0 HZZ Aot =EIMA
&l St Ald A (chel & 9l)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O=tE&E LT ML St22 EFIAM 583,000
03 Al S HHI 3,673 2,333 1,340
O2E&E X2 3MA o2 B3 A 3,673
St==9 HX ¥ Zel(s0HE 0tSct=5 FHIAY) 754,287 2,515,000 21,760,713
(2, 28X+)
= 528,000
[ia 226,287
401 Al HIZ 201 8] 754,287 2,515,000 A 1,760,713
= 528,000
e 226,287
01 A& HI 751,571 2,515,000 A 1,763,429
O2Y - 28X+ sHE OtSot=E FHAE
754,286,000+ (1-0.36%) 751,571
= 528,000
[ia 223,571
O2Y - 28X+ sHE OtSot=E FHAEY
754,286,000%0% 0
03 Al S THHI 2,716 0 2,716
2 - 28XNF sOHE OtS6t=% ZHIAMH
754,286,000%0. 36% 2,716
St+=Co Xl 2 Ze(sHE0Sot=T ARG )( 2,907,143 728,000 2,179,143
A=)
= 2,035,000
s 872,143
401 Al HI K 201 I 2,907,143 728,000 2,179,143
= 2,035,000
s 872,143
01 A& HI 2,896,678 723,414 2,173,264
OLEXNT =s0E Dt8dta=E FHIAY
2,907, 143,000%(1-0.36%) 2,896,678
= 2,035,000
s 861,678
03 A& 2 THHI 10,465 4,586 5,879
OLEXNF =s0E Dt8dta=E FHIAY 10,465
Sh+=Co Xl 2 Zel(ot=2HFH)(La+Hel 1,610,000 715,000 895,000
o)
= 1,127,000
s 483,000
401 Al HI X SO 1,610,000 715,000 895,000
= 1,127,000
[ia 483,000
01 A& HI 1,604,204 710,496 893,708
OYal - 24 H2lPY a2 HHAY
1,610,000, 000%(1-0.36%) 1,604,204
= 1,127,000
s 477,204
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2N
X ZH -
L= B

el

aot== 1t
SEXHQ el Hote =ZY
St=Z Al e

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
03 AIE 2 0HHI 5,796 4,504 1,292
Ogd - 2= XMl =22 FHAE
1,610,000,000%0. 36% 5,796
OISot== HBAS (AIEE) 201,440 0 201,440
401 Al& Bl & 28I 201,440 0 201,440
01 A& Hl 200,000 0 200,000
Odt=SAd2 HAAMS(OIH L AII) 200,000
03 Al =2 THHI 1,440 0 1,440
Odt=SAEE HAAMD(OIAH L ) 1,440
SS9 Xl 2 Zel(sHEDSot=TSFHIAFY)( 428,571 0 428,571
EXTR)
2 300,000
i 128,571
401 Al B2 28I 428,571 0 428,571
= 300,000
e 128,571
01 A& HI 425,486 0 425,486
O2LEXZ? s0HE OISot=& ZHIAY
428,571,000+ (1-0.72%) 425,486
= 300,000
e 125,486
03 A& =TI 3,085 0 3,085
O2LEXZ? s0HE OISot=% FHIAY
428,571,000%0.7197% 3,085
d2ZF Jla2e 162,782 163,022 A 240
=& JlE22e 162,782 163,022 A 240
101 1244 dl 44,362 44,362 0
04 JIZHHZ2XREES 44,362 44,362 0
OF=A&2Z 22l At 44,362
—Jl=s 51,7603 250 «2H 25,880
— &0z 12,940,000& 4/ 12%2H 8,627
—ReFsrE 51,7603 52 +2YH 5,384
—Qx=g 51,7603 x20F+2H 2,071
— HES0td| 600,000& *x23| x2H 2,400
201 Let24d] 118,420 118,660 A 240
01 At 22l 118,420 118,660 A 240
Ogax=¢ 115,920
— =2 H| 60,000 *3652 «2H *20H A 87,600
— 2| 60,0003 « 118 «2H «2H £ 28,320
Od=E FH2 &Z2 HA2R S (20L)
2,500,000 » 14 2,500
MNeEs(aataEn) 6,916,396 4,467,060 2,449,336
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M Aot
HH: HRES (M54 D)
S WEAHAHX = (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
HEAHHX = 6,916,396 4,467,060 2,449,336
H-=EMNSTELEIH BES 6,827,817 3,955,962 2,871,855
701 JIEt3I HEEES 6,827,817 3,955,962 2,871,855
01 JIEtl HEES 6,827,817 3,955,962 2,871,855
O+ ANLSEH d=3 6,827,817
St=C A SEESH dES 88,579 511,098 AN422,519
701 JIEtSI HSEES 88,579 511,098 AN422,519
01 JIEtel HE &= 88,579 511,098 AN422,519
Odt+=SAASESH =3 88,579
HH2HZ U (Aot+=Z1t) 40,872 45,884 25,012
JlEZ3l 40,872 45,884 A5,012
atot=E 0t D234l 40,872 45,884 AN5,012
201 LB-2dH| 15,552 16,524 AQ972
01 At 2t 2l 15,552 16,524 A972
O SHl& 12,442
O SEdl SA0 & 3,110
202 Odl 20,520 20,520 0
01 =S LHA YI 20,520 20,520 0
O SHANHI 20,520,000* 14! 20,520
203 R =&l 4,800 8,840 A4,040
04 FN2ELRZ=TH| 4,800 4,800 0
O &ot=El 2EA2I 400,000& = 123 4,800
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